Problem Set #9 due beginning of class, Monday, March 7
 #1 This is a statics problem because we have many forces, and we know the acceleration should be zero. Because there are more than two points of contact, we will need to consider torques as well as forces. The solutions to this problem is in a video for Week 10, Day2.
#2 This was the spinning barbell problem. The solution is a video assigned for Week 10, Day 2
#3 This was the “diving board problem” assigned for Week 10, Day 2.
#4 The “2 kids dropped on a carousel” problem. For solutions, please see second question at Winter 2015 Big Exam #4 Solutions. The question is slightly different, as I ask an additional question in this BE#4, but all the information is there.
#5 A child’s carousel with girl running into it is below on the next page 
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